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Table S1. Summary of correlations between litter size and the number of stillborn piglets for groups 

of sows divided according to VCL (S—short VCL, M—middle VCL, and L—long VCL). 

Input (x) variable  Output (y) variable Regression equation p-value  r 

Litter size Stillborn litter size (all litters) y = 0.23x - 1.57 0.000000 0.388 

Litter size S Stillborn litter size (S) y = 0.28x - 1.77 0.000020 0.377 

Litter size M Stillborn litter size (M) y = 0.24x - 1.65 0.000000 0.414 

Litter size L Stillborn litter size (L) y = 0.21x - 1.56 0.000000 0.371 

Table S2. Summary of correlations between vagina–cervix length (input) and the most important 

reproductive variables (output) in the analyzed gilts (n = 199). 

Input (x) variable  Output (y) variable Regression equation p-value  r 

VCL (cm) Parity 1 live born litter size y = 0.20x + 3.77 0.001 0.227 

VCL (cm) Total life live born number of piglets y = 2.71x + 43.52 0.00003 0.292 

VCL (cm) Mean life live born litter size y = 0.25x + 2.43 0.00000 0.374 

VCL (cm) Parity 1 stillborn litter size y = 0.005x + 0.75 0.900 0.009 

VCL (cm) Total life stillborn number of piglets y = 0.32x – 5.44 0.009 0.184 

VCL (cm) Mean life stillborn litter size y = 0.02x + 0.54 0.590 0.038 

VCL (cm) Parity 1 total born litter size y = 0.20x + 4.52 0.0004 0.248 

VCL (cm) Total life number of piglets y = 3.04x – 49.21  0.00004 0.289 

VCL (cm) Mean life litter size y = 0.27 + 2.97 0.00000 0.410 

VCL (cm) Total life number of litters y = 0.18 – 1.93 0.0009 0.233 
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